réf.1631126728

% DFRO6 - Fiche d’entrainement

Pas de calculatrice

| Compétence travaillée

| Difficulté | Socle commun | Nombre d’erreurs |

| Simplification de fractions | s J % \ v \ |
Simplifier au maximum.
1,8 10,2 3,8 18,8
1 Y — 2 Y 3 Y — 4 9
) 8.4 ) —6,8 ) 9.6 ) —4.2
9,6 15,6 18,4 —16,8
5 ’ = 6 ! 7 ! = 8 ’ —
>8,8 ) 7.2 ) 32 )—13,2
-3,9 -5,7 17,7 14,7
2 = 1 — 1) =2 = 12) —— =
) -7,5 0) 6,6 ) 3,3 ) —5,7
-9,3 14,5 2,8 10,2
1 Y — 14) — 1 ) 16) 2%
3) —4,5 ) 12,5 3) —10,5 6) 19,6
—8,8 —10,5 6,9 —14,6
17 = 18 = 19 ’ 20 =
) 10,2 ) 16,2 ) 18,3 ) 10,8
12 2 —2 17,2
o1) 120 2) 28 _ 23) —28 24) 2 =
10,2 14, —11,9 19,2
13,2 8,4 7,4 —2,6
25 = 26) = 27) —— = 28 — =
) 8,6 )73 ) 18,2 ) 5,4
1,8 3 10,2 3 3,8 19 18,8 94
1) = =|— 2) — _Z 3) = — 4y =% =2
8,4 |14 —6,8 2 —9,6 48 —4.2 21
9,6 |12 15,6 |13 18,4 |23 —16,8 |14
5) = — 6) — — 7)== =|— 8 =
)8,8 11 ) 7,2 |6 ) 32 | 4 )—13,2 11
-3,9 |13 —5,7 19 17,7 |59 14,7 49
9) —— =|_= 10) —— =|——| |11) === 12) —2 = =|——
) —7.5 |25 ) 6,6 22 ) 33 |11 ) —5.7 19
-9,3 |31 14,5 |29 2,8 4 10,2 |51
13 == 14) — il 15 L 16) —2 = —| =
) 45 |15 ) 12,5 |25 ) ~10,5 15 ) 19,6 |98
—8,8 44 —10,5 35 —6,9 23 —14,6 73
17 ! R 18 | = 19 ’ = 20 A R
) 10,2 51 ) 6,2 54 ) 18,3 61 ) 10,8 54
12,6 |21 2,8 7 -2,8 4 17,2 143
21) — — 22) = — 23 U ) 2% |2
) 10,2 17 ) 14, 36 ) —11,9 17 ) 19,2 |48
13,2 |66 8,4 42 7,4 37 —-2,6 |13
25) — =|— 26 — 27) 21— =|=— 28 A B
) 8,6 |43 )74~ |37 ) 18,2 |91 ) —5.4 |27
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